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Section 3: Surds

Exercise

1. Write these in terms of the simplest possible surd.

(i) J8 (i) 50 (iii) /48
(iv) J216 (v) /63 (vi) /300

(vii) J6x+/27 (viii) V12 x+/15 (iX) V10x+/24x+/15

2. Simplify the following

(i) (1+JE)+(3—2J§) (ii) (5@-2@)—(\/%3\/5)
(iii) 2(V5-3V3)+3(245+3)  (iv) 18+T2-98

3. Multiply out the brackets and simplify as far as possible.

(i) (1+J§)(3—J§) (ii) (2—J§)(3+ 2J§)
(i) (3-245)(1-35) (iv) (v2+243)(5v2-+3)
W (NT2)(NT-2) vi) (3-v2)
4. Rationalise the denominators of the following.
Q) % (i) % (iii) lJ:/\Z_/E
: 1 2 . 1-3
(iv) N (V) m (vi) ﬁ
vig L 2\5 1442 J6++/3

m (viir) \/_+\/_ (ix) -

5. The rectangle below has length (\ﬁ + 1) cm. The area of the rectangle is a whole

number of cm?.

(743

Innovators in
Mathematics 1of2 11/06/13 © MEI
Education



AQA FM Number and Algebra 1 Exercise

Find a possible width for the rectangle and state its area.
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